Integrated Science Name Period

Weight Problems WS

Instructions: Complete the following problems using the equation below. SHOW ALL WORK. No work

= no credit. Do not forget your units.
Weight Formula

Weight = Mass X Acceleration due to gravity

W = mg

1. On Earth, g is always equal to

2. Alocomotives masis 18181.81 kg. What is its weight?



Instructions: Solve the following problems using the table to the right for
the correct values of g. (Use values my/s?)

7. Alocomotives masis 18181.81 kg. What is its weight on the moon?
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